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library(MCMCpack)
HHT — BT 7AILDERHAH
Dat<-read.csv("H:/2014/data.csv",header=TRUE)
hh<-nrow(Dat) ##7 —42#{:Data D{THEHZ 5
rtime <- Dat[, 6]/100; btime <- Dat[, 9]/100; ctime <- Dat[,12]/100
rcost <- Dat[, 7]/100; bcost <- Dat[,10]/100; ccost <- Dat[,13]/100
raged <- matrix(0,nrow=hh,ncol=1); baged <- 1*(Dat[,3]>=6); caged <- raged
rcar <- matrix(0,nrow=hh,ncol=1); bcar <- rcar; ccar <- 1*(Dat[,4]>=2)
#HERER
ch <- matrix(0,nrow=hh,ncol=3)
colnames(ch) <- ¢("1", "2", "3")
for (iin 1:hh){
if (Dat[i, 5]==0) ch[i,1] <- -999
if (Dat[i, 2]==1) ch[i, 1] <- 1
if (Dat[i, 8]==0) ch[i,2] <- -999
if (Dat[i, 2]==2) ch[i,2] <- 1
if (Dat[i,11]==0) ch[i,3] <- -999
if (Dat[i, 2]==3) ch[i,3] <- 1
}
post <- MCMCmnl(ch ~
choicevar(rtime, "time", "1") +
choicevar(btime, "time", "2") +
choicevar(ctime, "time", "3") +
choicevar(rcost, "cost", "1") +
choicevar(bcost, "cost", "2") +
choicevar(ccost, "cost", "3") +
choicevar(raged, "aged", "1") +
choicevar(baged, "aged", "2") +
choicevar(caged, "aged", "3") +
choicevar(rcar, "car", "1") +
choicevar(bcar, "car", "2") +
choicevar(ccar, "car", "3"),
baseline="3", burnin=1000,
mcmc.method="RWM",
b0=0, BO=0, seed=2348,
verbose=1000, mcmc=10000, B=0.001)
plot(post)
summary(post)
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library(bayesm)
HHT — BT 7 AL DERHAH

Dat<-read.csv("h:/2014/data.csv",header=TRUE)
hh<-nrow(Dat) ##7 —4%#{:Data DITEEHHZ 5
alt<-3
rtime <- Dat[, 6]/100; btime <- Dat[, 9]/100; ctime <- Dat[,12]/100
rcost <- Dat[, 7]/100; bcost <- Dat[,10]/100; ccost <- Dat[,13]/100
raged <- matrix(0,nrow=hh,ncol=1); baged <- 1*(Dat[,3]>=6); caged <- raged
rcar <- matrix(0,nrow=hh,ncol=1); bcar <- rcar; ccar <- 1*(Dat[,4]>=2)
cres <- Dat[,2]
na<-4
Xa <- cbind(rtime,btime,ctime,rcost,bcost,ccost,raged,baged,caged,rcar,bcar,ccar)
nd<-0
X <- createX(alt, na=na, nd=nd, Xa=Xa, Xd=NULL, DIFF=TRUE, base=3)
datl <- list(p=alt, y=cres, X=X)
mcmcl <- list(R=5000,k=1)
resl <- rmnpGibbs(Data=datl, Mcmc=mcmcl)
plot(res1Sbetadraw)
plot(res1Ssigmadraw)
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